!FINISH fixing Ups to Downs, 1s to -1s, U’s to D’s ,etc.



IF ((stor(gennum,i)==“DN").and.(stor(gennum+1,i)=="N")) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=0

   babylure(1,3,I)=-1

   stor(babynum,i)="DN"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/North'

  ELSE IF ((stor(gennum,i)==“DN").and.((stor(gennum+1,i)=="E"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=1

   babylure(1,3,I)=-1

   stor(babynum,i)="DNE"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/Northeast'

  ELSE IF ((stor(gennum,i)==“DN").and.((stor(gennum+1,i)=="W"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=-1

   babylure(1,3,I)=-1

   stor(babynum,i)="DNW"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/Northwest'

  ELSE IF ((stor(gennum,i)==“DN").and.((stor(gennum+1,i)=="SP")))THEN

    babylure(1,1,i)=-1

    babylure(1,2,i)=0

    babylure(1,3,I)=-1

    stor(babynum,i)="DN"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/North'

  ELSE IF ((stor(gennum,i)==“DN").and.((stor(gennum+1,i)=="SE"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=1

   babylure(1,3,I)=-1

   stor(babynum,i)="DE"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/East'

  ELSE IF ((stor(gennum,i)==“DN").and.((stor(gennum+1,i)=="SW"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=-1

   babylure(1,3,I)=-1

   stor(babynum,i)="DW"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/West'

  ELSE IF ((stor(gennum,i)==“DN").and.((stor(gennum+1,i)=="S")))THEN

    babylure(1,1,i)=0

    babylure(1,2,i)=0

    babylure(1,3,I)=-1

    stor(babynum,i)="D"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down'

  ELSE IF ((stor(gennum,i)==“DN").and.((stor(gennum+1,i)=="NE"))) THEN

    babylure(1,1,i)=-1

    babylure(1,2,i)=0

babylure(1,3,I)=-1

    stor(babynum,i)="DN"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/North'

  ELSE IF ((stor(gennum,i)==“DN").and.((stor(gennum+1,i)=="NW"))) THEN

    babylure(1,1,i)=-1

    babylure(1,2,i)=0

babylure(1,3,I)=-1

    stor(babynum,i)="DN"

   PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ Down/North’

ELSE IF ((stor(gennum,i)==“DN").and.((stor(gennum+1,i)=="UN"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=0

   babylure(1,3,I)=0

   stor(babynum,i)="N"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ North'

ELSE IF ((stor(gennum,i)==“DN").and.((stor(gennum+1,i)=="U"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=0

   babylure(1,3,I)=0

   stor(babynum,i)="N"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ North'

ELSE IF ((stor(gennum,i)==“DN").and.((stor(gennum+1,i)=="UNE"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=0

   babylure(1,3,I)=0

   stor(babynum,i)="N"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ North'

ELSE IF ((stor(gennum,i)==“DN").and.((stor(gennum+1,i)=="UE"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=1

   babylure(1,3,I)=0

   stor(babynum,i)="NE"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Northeast'

ELSE IF ((stor(gennum,i)==“DN").and.((stor(gennum+1,i)=="USE"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=1

   babylure(1,3,I)=0

   stor(babynum,i)="E"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ East'

ELSE IF ((stor(gennum,i)==“DN").and.((stor(gennum+1,i)=="US"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=0

   babylure(1,3,I)=0

   stor(babynum,i)="SP"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Stays Put’

ELSE IF ((stor(gennum,i)==“DN").and.((stor(gennum+1,i)=="USW"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=-1

   babylure(1,3,I)=0

   stor(babynum,i)="W"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ West'

ELSE IF ((stor(gennum,i)==“DN").and.((stor(gennum+1,i)=="UW"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=-1

   babylure(1,3,I)=0

   stor(babynum,i)="NW"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Northwest'

ELSE IF ((stor(gennum,i)==“DN").and.((stor(gennum+1,i)=="UNW"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=0

   babylure(1,3,I)=0

   stor(babynum,i)="N"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ North'

ELSE IF ((stor(gennum,i)==“DN").and.((stor(gennum+1,i)=="D"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=0

   babylure(1,3,I)=-1

   stor(babynum,i)="DN"

   PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ Down/North’

ELSE IF ((stor(gennum,i)==“DN").and.((stor(gennum+1,i)=="DN"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=0

   babylure(1,3,I)=-1

   stor(babynum,i)="DN"

   PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ Down/North’

ELSE IF ((stor(gennum,i)==“DN").and.((stor(gennum+1,i)=="DNE"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=0

   babylure(1,3,I)=-1

   stor(babynum,i)="DN"

   PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ Down/North’

ELSE IF ((stor(gennum,i)==“DN").and.((stor(gennum+1,i)=="DE"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=1

   babylure(1,3,I)=-1

   stor(babynum,i)="DNE"

   PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ Down/Northeast’

ELSE IF ((stor(gennum,i)==“DN").and.((stor(gennum+1,i)=="DSE"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=1

   babylure(1,3,I)=-1

   stor(babynum,i)="DE"

      PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ Down/East’

ELSE IF ((stor(gennum,i)==“DN").and.((stor(gennum+1,i)=="DS"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=0

   babylure(1,3,I)=-1

   stor(babynum,i)="D"

   PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ Down’

ELSE IF ((stor(gennum,i)==“DN").and.((stor(gennum+1,i)=="DSW"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=-1

   babylure(1,3,I)=-1

   stor(babynum,i)="DW"

   PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ Down/West’

ELSE IF ((stor(gennum,i)==“DN").and.((stor(gennum+1,i)=="DW"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=-1

   babylure(1,3,I)=-1

   stor(babynum,i)="DNW"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/Northwest’

ELSE IF ((stor(gennum,i)==“DN").and.((stor(gennum+1,i)=="DNW"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=0

   babylure(1,3,I)=-1

   stor(babynum,i)="DN"

   PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ Down/North’

ENDIF



  IF ((stor(gennum,i)==“DS").and.((stor(gennum+1,i)=="S"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=0

babylure(1,3,I)=-1

   stor(babynum,i)="DS"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/South’

  ELSE IF ((stor(gennum,i)==“DS").and.((stor(gennum+1,i)=="SP")))THEN

    babylure(1,1,i)=1

    babylure(1,2,i)=0

babylure(1,3,I)=-1

    stor(babynum,i)="DS"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/South’

  ELSE IF ((stor(gennum,i)==“DS").and.((stor(gennum+1,i)=="E"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=1

babylure(1,3,I)=-1

   stor(babynum,i)="DSE"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/Southeast’

  ELSE IF ((stor(gennum,i)==“DS").and.((stor(gennum+1,i)=="W"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=-1

babylure(1,3,I)=-1

   stor(babynum,i)="DSW"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/Southwest’

  ELSE IF ((stor(gennum,i)==“DS").and.((stor(gennum+1,i)=="NE"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=1

babylure(1,3,I)=-1

   stor(babynum,i)="DE"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/East'

  ELSE IF ((stor(gennum,i)==“DS").and.((stor(gennum+1,i)=="NW"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=-1

babylure(1,3,I)=-1

   stor(babynum,i)="DW"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/West'

  ELSE IF ((stor(gennum,i)==“DS").and.((stor(gennum+1,i)=="N"))) THEN

    babylure(1,1,i)=0

    babylure(1,2,i)=0

babylure(1,3,I)=-1

    stor(babynum,i)="D"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down'

  ELSE IF ((stor(gennum,i)==“DS").and.((stor(gennum+1,i)=="SE"))) THEN

    babylure(1,1,i)=1

    babylure(1,2,i)=0

babylure(1,3,I)=-1

    stor(babynum,i)=“DS"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/South’

  ELSE IF ((stor(gennum,i)==“DS").and.((stor(gennum+1,i)=="SW"))) THEN

    babylure(1,1,i)=1

    babylure(1,2,i)=0

babylure(1,3,I)=-1

    stor(babynum,i)=“DS"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/South’

ELSE IF ((stor(gennum,i)==“DS").and.((stor(gennum+1,i)=="U"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=0

   babylure(1,3,I)=-1

   stor(babynum,i)=“DS"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/South'

ELSE IF ((stor(gennum,i)==“DS”).and.((stor(gennum+1,i)=="UN"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=0

   babylure(1,3,I)=-1

   stor(babynum,i)="D"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down'

ELSE IF ((stor(gennum,i)==“DS”).and.((stor(gennum+1,i)=="UNE"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=1

   babylure(1,3,I)=-1

   stor(babynum,i)="DE"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/East'

ELSE IF ((stor(gennum,i)==“DS”).and.((stor(gennum+1,i)=="UE"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=1

   babylure(1,3,I)=-1

   stor(babynum,i)=“DSE"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/Southeast'

ELSE IF ((stor(gennum,i)==“DS”).and.((stor(gennum+1,i)=="USE"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=0

   babylure(1,3,I)=-1

   stor(babynum,i)=“DS"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/South'

ELSE IF ((stor(gennum,i)==“DS”).and.((stor(gennum+1,i)=="US"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=0

   babylure(1,3,I)=-1

   stor(babynum,i)=“DS"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/South’

ELSE IF ((stor(gennum,i)==“DS”).and.((stor(gennum+1,i)=="USW"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=0

   babylure(1,3,I)=-1

   stor(babynum,i)=“DS"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/South'

ELSE IF ((stor(gennum,i)==“DS”).and.((stor(gennum+1,i)=="UW"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=-1

   babylure(1,3,I)=-1

   stor(babynum,i)=“DSW"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/Southwest'

ELSE IF ((stor(gennum,i)==“DS”).and.((stor(gennum+1,i)=="UNW"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=-1

   babylure(1,3,I)=-1

   stor(babynum,i)="DW"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/West'

ELSE IF ((stor(gennum,i)==“DS”).and.((stor(gennum+1,i)=="D"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=0

   babylure(1,3,I)=-1

   stor(babynum,i)="DS"

   PRINT *,'Lure ',babynum,' Move ‘,i,’ DownSouth’

ELSE IF ((stor(gennum,i)==“DS”).and.((stor(gennum+1,i)=="DN"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=0

   babylure(1,3,I)=-1

   stor(babynum,i)="D"

   PRINT *,'Lure ',babynum,' Move ',i,' Down’

ELSE IF ((stor(gennum,i)==“DS”).and.((stor(gennum+1,i)=="DNE"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=1

   babylure(1,3,I)=-1

   stor(babynum,i)="DE”

      PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ Down/East’

ELSE IF ((stor(gennum,i)==“DS”).and.((stor(gennum+1,i)=="DE"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=1

   babylure(1,3,I)=-1

   stor(babynum,i)="DSE"

   PRINT *,'Lure ',babynum,' Move ',i,' Southeast'

ELSE IF ((stor(gennum,i)==“DS”).and.((stor(gennum+1,i)=="DSE"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=0

   babylure(1,3,I)=-1

   stor(babynum,i)="DS"

   PRINT *,'Lure ',babynum,' Move ',i,' Down/South'

ELSE IF ((stor(gennum,i)==“DS”).and.((stor(gennum+1,i)=="DS"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=0

   babylure(1,3,I)=-1

   stor(babynum,i)="DS"

   PRINT *,'Lure ',babynum,' Move ‘,i,’ Down/South’

ELSE IF ((stor(gennum,i)==“DS”).and.((stor(gennum+1,i)=="DSW"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=0

   babylure(1,3,I)=-1

   stor(babynum,i)="DS"

   PRINT *,'Lure ',babynum,' Move ',i,' Down/South'

ELSE IF ((stor(gennum,i)==“DS”).and.((stor(gennum+1,i)=="DW"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=-1

   babylure(1,3,I)=-1

   stor(babynum,i)="DSW"

   PRINT *,'Lure ',babynum,' Move ',i,' Down/Southwest’

ELSE IF ((stor(gennum,i)==“DS”).and.((stor(gennum+1,i)=="DNW"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=1

   babylure(1,3,I)=-1

   stor(babynum,i)="DW"

   PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ Down/West’

ENDIF





  IF ((stor(gennum,i)==“DE").and.((stor(gennum+1,i)=="N"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=1

babylure(1,3,I)=-1

   stor(babynum,i)="DNE"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/Northeast'

  ELSE IF ((stor(gennum,i)==“DE").and.((stor(gennum+1,i)=="SP")))THEN

    babylure(1,1,i)=0

    babylure(1,2,i)=1

babylure(1,3,I)=-1

    stor(babynum,i)=“DE"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/East’

  ELSE IF ((stor(gennum,i)==“DE").and.((stor(gennum+1,i)=="S"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=1

babylure(1,3,I)=-1

   stor(babynum,i)=“DSE"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/Southeast’

  ELSE IF ((stor(gennum,i)==“DE").and.((stor(gennum+1,i)=="SW"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=0

babylure(1,3,I)=-1

   stor(babynum,i)=“DS"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/South’

  ELSE IF ((stor(gennum,i)==“DE").and.((stor(gennum+1,i)=="E"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=1

babylure(1,3,I)=-1

   stor(babynum,i)=“DE"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/East’

  ELSE IF ((stor(gennum,i)==“DE").and.((stor(gennum+1,i)=="NW"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=-1

babylure(1,3,I)=-1

   stor(babynum,i)=“DW"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/West'

  ELSE IF ((stor(gennum,i)==“DE").and.((stor(gennum+1,i)=="W"))) THEN

    babylure(1,1,i)=0

    babylure(1,2,i)=0

babylure(1,3,I)=-1

    stor(babynum,i)=“D"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down'

  ELSE IF ((stor(gennum,i)==“DE").and.((stor(gennum+1,i)=="SE"))) THEN

    babylure(1,1,i)=0

    babylure(1,2,i)=1

babylure(1,3,I)=-1

    stor(babynum,i)=“DE"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/East’

  ELSE IF ((stor(gennum,i)==“DE").and.((stor(gennum+1,i)=="NE"))) THEN

    babylure(1,1,i)=0

    babylure(1,2,i)=1

babylure(1,3,I)=-1

    stor(babynum,i)=“DE"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/East’

ELSE IF ((stor(gennum,i)==“DE”).and.((stor(gennum+1,i)=="U"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=1

   babylure(1,3,I)=0

   stor(babynum,i)=“E"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ East'

ELSE IF ((stor(gennum,i)==“DE”).and.((stor(gennum+1,i)=="UN"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=1

   babylure(1,3,I)=0

   stor(babynum,i)=“NE"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Northeast'

ELSE IF ((stor(gennum,i)==“DE”).and.((stor(gennum+1,i)=="UNE"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=1

   babylure(1,3,I)=0

   stor(babynum,i)=“E"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ East'

ELSE IF ((stor(gennum,i)==“DE”).and.((stor(gennum+1,i)=="UE"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=1

   babylure(1,3,I)=0

   stor(babynum,i)=“E"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ East'

ELSE IF ((stor(gennum,i)==“DE”).and.((stor(gennum+1,i)=="USE"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=1

   babylure(1,3,I)=0

   stor(babynum,i)=“E"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ East'

ELSE IF ((stor(gennum,i)==“DE”).and.((stor(gennum+1,i)=="US"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=1

   babylure(1,3,I)=0

   stor(babynum,i)=“SE"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Southeast’

ELSE IF ((stor(gennum,i)==“DE”).and.((stor(gennum+1,i)=="USW"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=0

   babylure(1,3,I)=0

   stor(babynum,i)=“S"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ South'

ELSE IF ((stor(gennum,i)==“DE”).and.((stor(gennum+1,i)=="UW"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=0

   babylure(1,3,I)=0

   stor(babynum,i)=“SP"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Stays Put'

ELSE IF ((stor(gennum,i)==“DE”).and.((stor(gennum+1,i)=="UNW"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=0

   babylure(1,3,I)=0

   stor(babynum,i)=“N"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ North'

ELSE IF ((stor(gennum,i)==“DE”).and.((stor(gennum+1,i)==“D"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=1

   babylure(1,3,I)=-1

   stor(babynum,i)=“DE"

   PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ Down/East’

ELSE IF ((stor(gennum,i)==“DE”).and.((stor(gennum+1,i)==“DN"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=1

   babylure(1,3,I)=-1

   stor(babynum,i)=“DNE"

   PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ Down/Northeast’

ELSE IF ((stor(gennum,i)==“DE”).and.((stor(gennum+1,i)==“DNE"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=1

   babylure(1,3,I)=-1

   stor(babynum,i)=“DE"

   PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ DownEast’

ELSE IF ((stor(gennum,i)==“DE”).and.((stor(gennum+1,i)==“DE"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=1

   babylure(1,3,I)=-1

   stor(babynum,i)=“DE"

      PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ Down/East’

ELSE IF ((stor(gennum,i)==“DE”).and.((stor(gennum+1,i)==“DSE"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=1

   babylure(1,3,I)=-1

   stor(babynum,i)=“DE"

      PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ East’

ELSE IF ((stor(gennum,i)==“DE”).and.((stor(gennum+1,i)==“DS"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=1

   babylure(1,3,I)=-1

   stor(babynum,i)=“DSE"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Southeast’

ELSE IF ((stor(gennum,i)==“DE”).and.((stor(gennum+1,i)==“DSW"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=0

   babylure(1,3,I)=-1

   stor(babynum,i)=“DS"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ South'

ELSE IF ((stor(gennum,i)==“DE”).and.((stor(gennum+1,i)==“DW"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=0

   babylure(1,3,I)=-1

   stor(babynum,i)=“D"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down'

ELSE IF ((stor(gennum,i)==“DE”).and.((stor(gennum+1,i)==“DNW"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=0

   babylure(1,3,I)=-1

   stor(babynum,i)=“DN"

   PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ Down/North’

 ENDIF



  IF ((stor(gennum,i)==“DW").and.((stor(gennum+1,i)=="N"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=-1

babylure(1,3,I)=-1

   stor(babynum,i)=“DNW"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/Northwest'

  ELSE IF ((stor(gennum,i)==“DW").and.((stor(gennum+1,i)=="SP")))THEN

    babylure(1,1,i)=0

    babylure(1,2,i)=-1

babylure(1,3,I)=-1

    stor(babynum,i)=“DW"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/West'

  ELSE IF ((stor(gennum,i)==“DW").and.((stor(gennum+1,i)=="S"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=-1

babylure(1,3,I)=-1

   stor(babynum,i)=“DSW"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/Southwest’

  ELSE IF ((stor(gennum,i)==“DW").and.((stor(gennum+1,i)=="W"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=-1

babylure(1,3,I)=-1

   stor(babynum,i)=“DW"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/West'

  ELSE IF ((stor(gennum,i)==“DW").and.((stor(gennum+1,i)=="NE"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=0

babylure(1,3,I)=-1

   stor(babynum,i)=“DN"

   PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ Down/North’

  ELSE IF ((stor(gennum,i)==“DW").and.((stor(gennum+1,i)=="SE"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=0

babylure(1,3,I)=-1

   stor(babynum,i)=“DS"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/South’

  ELSE IF ((stor(gennum,i)==“DW").and.((stor(gennum+1,i)=="E"))) THEN

    babylure(1,1,i)=0

    babylure(1,2,i)=0

babylure(1,3,I)=-1

    stor(babynum,i)=“D"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down'

  ELSE IF ((stor(gennum,i)==“DW").and.((stor(gennum+1,i)=="SW"))) THEN

    babylure(1,1,i)=0

    babylure(1,2,i)=-1

babylure(1,3,I)=-1

    stor(babynum,i)=“DW"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/West'

  ELSE IF ((stor(gennum,i)==“DW").and.((stor(gennum+1,i)=="NW"))) THEN

    babylure(1,1,i)=0

    babylure(1,2,i)=-1

babylure(1,3,I)=-1

    stor(babynum,i)=“DW"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/West'

ELSE IF ((stor(gennum,i)==“DW”).and.((stor(gennum+1,i)=="U"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=-1

   babylure(1,3,I)=0

   stor(babynum,i)=“W"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/West'

ELSE IF ((stor(gennum,i)==“DW”).and.((stor(gennum+1,i)=="UN"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=-1

   babylure(1,3,I)=0

   stor(babynum,i)=“NW"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/Northwest'

ELSE IF ((stor(gennum,i)==“DW”).and.((stor(gennum+1,i)=="UNE"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=0

   babylure(1,3,I)=0

   stor(babynum,i)=“N"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/North'

ELSE IF ((stor(gennum,i)==“DW”).and.((stor(gennum+1,i)=="UE"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=0

   babylure(1,3,I)=0

   stor(babynum,i)=“SP"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down'

ELSE IF ((stor(gennum,i)==“DW”).and.((stor(gennum+1,i)=="USE"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=0

   babylure(1,3,I)=0

   stor(babynum,i)=“S"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/South'

ELSE IF ((stor(gennum,i)==“DW”).and.((stor(gennum+1,i)=="US"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=-1

   babylure(1,3,I)=0

   stor(babynum,i)=“SW"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/Southwest’

ELSE IF ((stor(gennum,i)==“DW”).and.((stor(gennum+1,i)=="USW"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=-1

   babylure(1,3,I)=0

   stor(babynum,i)=“W"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/West'

ELSE IF ((stor(gennum,i)==“DW”).and.((stor(gennum+1,i)=="UW"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=-1

   babylure(1,3,I)=0

   stor(babynum,i)=“W"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/West'

ELSE IF ((stor(gennum,i)==“DW”).and.((stor(gennum+1,i)=="UNW"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=-1

   babylure(1,3,I)=0

   stor(babynum,i)=“W"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/West'

ELSE IF ((stor(gennum,i)==“DW”).and.((stor(gennum+1,i)==“D"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=-1

   babylure(1,3,I)=-1

   stor(babynum,i)=“DW"

      PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ Down/West’

ELSE IF ((stor(gennum,i)==“DW”).and.((stor(gennum+1,i)==“DN"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=-1

   babylure(1,3,I)=-1

   stor(babynum,i)=“DNW"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/Northwest’

ELSE IF ((stor(gennum,i)==“DW”).and.((stor(gennum+1,i)==“DNE"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=0

   babylure(1,3,I)=-1

   stor(babynum,i)=“DN"

   PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ Down/North’

ELSE IF ((stor(gennum,i)==“DW”).and.((stor(gennum+1,i)==“DE"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=0

   babylure(1,3,I)=-1

   stor(babynum,i)=“D"

   PRINT *,'Lure ',babynum,' Move ‘,i,’ Stays Put'

ELSE IF ((stor(gennum,i)==“DW”).and.((stor(gennum+1,i)==“DSE"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=0

   babylure(1,3,I)=-1

   stor(babynum,i)=“DS"

   PRINT *,'Lure ',babynum,' Move ‘,i,’ South'

ELSE IF ((stor(gennum,i)==“DW”).and.((stor(gennum+1,i)==“DS"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=-1

   babylure(1,3,I)=-1

   stor(babynum,i)=“DSW"

   PRINT *,'Lure ',babynum,' Move ‘,i,’ Southwest’

ELSE IF ((stor(gennum,i)==“DW”).and.((stor(gennum+1,i)==“DSW"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=-1

   babylure(1,3,I)=-1

   stor(babynum,i)=“DW"

   PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ Down/West’

ELSE IF ((stor(gennum,i)==“DW”).and.((stor(gennum+1,i)==“DW"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=-1

   babylure(1,3,I)=-1

   stor(babynum,i)=“DW"

   PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ Down/West’

ELSE IF ((stor(gennum,i)==“DW”).and.((stor(gennum+1,i)==“DNW"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=-1

   babylure(1,3,I)=-1

   stor(babynum,i)=“DW"

   PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ Down/West’

  ENDIF



  IF ((stor(gennum,i)==“DNE").and.((stor(gennum+1,i)=="S"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=1

babylure(1,3,I)=-1

   stor(babynum,i)=“DE"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/East’

  ELSE IF ((stor(gennum,i)==“DNE").and.((stor(gennum+1,i)=="SP")))THEN

    babylure(1,1,i)=-1

    babylure(1,2,i)=1

babylure(1,3,I)=-1

    stor(babynum,i)=“DNE"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/Northeast'

  ELSE IF ((stor(gennum,i)==“DNE").and.((stor(gennum+1,i)=="W"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=0

babylure(1,3,I)=-1

   stor(babynum,i)=“DN"

   PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ Down/North’

  ELSE IF ((stor(gennum,i)==“DNE").and.((stor(gennum+1,i)=="NE"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=1

babylure(1,3,I)=-1

   stor(babynum,i)=“DNE"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/Northeast'

  ELSE IF ((stor(gennum,i)==“DNE").and.((stor(gennum+1,i)=="SE"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=1

babylure(1,3,I)=-1

   stor(babynum,i)=“DE"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/East’

  ELSE IF ((stor(gennum,i)==“DNE").and.((stor(gennum+1,i)=="NW"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=0

babylure(1,3,I)=-1

   stor(babynum,i)=“DN"

   PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ Down/North’

  ELSE IF ((stor(gennum,i)==“DNE").and.((stor(gennum+1,i)=="N"))) THEN

    babylure(1,1,i)=-1

    babylure(1,2,i)=0

babylure(1,3,I)=-1

    stor(babynum,i)=“DN"

   PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ Down/North’

  ELSE IF ((stor(gennum,i)==“DNE").and.((stor(gennum+1,i)=="E"))) THEN

    babylure(1,1,i)=0

    babylure(1,2,i)=1

babylure(1,3,I)=-1

    stor(babynum,i)=“DE"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/East’

  ELSE IF ((stor(gennum,i)==“DNE").and.((stor(gennum+1,i)=="SW"))) THEN

    babylure(1,1,i)=0

    babylure(1,2,i)=0

babylure(1,3,I)=-1

    stor(babynum,i)=“D"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down'

ELSE IF ((stor(gennum,i)==“DNE").and.((stor(gennum+1,i)=="U"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=1

   babylure(1,3,I)=0

   stor(babynum,i)=“NE"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/Northeast'

ELSE IF ((stor(gennum,i)==“DNE”).and.((stor(gennum+1,i)=="UN"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=0

   babylure(1,3,I)=0

   stor(babynum,i)=“N"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/North'

ELSE IF ((stor(gennum,i)==“DNE”).and.((stor(gennum+1,i)=="UNE"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=1

   babylure(1,3,I)=0

   stor(babynum,i)=“NE"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/Northeast'

ELSE IF ((stor(gennum,i)==“DNE”).and.((stor(gennum+1,i)=="UE"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=1

   babylure(1,3,I)=0

   stor(babynum,i)=“E"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/East'

ELSE IF ((stor(gennum,i)==“DNE”).and.((stor(gennum+1,i)=="USE"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=1

   babylure(1,3,I)=0

   stor(babynum,i)=“E"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/East'

ELSE IF ((stor(gennum,i)==“DNE”).and.((stor(gennum+1,i)=="US"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=1

   babylure(1,3,I)=0

   stor(babynum,i)=“E"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/East’

ELSE IF ((stor(gennum,i)==“DNE”).and.((stor(gennum+1,i)=="USW"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=0

   babylure(1,3,I)=0

   stor(babynum,i)=“SP"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down'

ELSE IF ((stor(gennum,i)==“DNE”).and.((stor(gennum+1,i)=="UW"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=0

   babylure(1,3,I)=0

   stor(babynum,i)=“N"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/North'

ELSE IF ((stor(gennum,i)==“DNE”).and.((stor(gennum+1,i)=="UNW"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=0

   babylure(1,3,I)=0

   stor(babynum,i)=“N"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/North'

ELSE IF ((stor(gennum,i)==“DNE”).and.((stor(gennum+1,i)=="D"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=1

   babylure(1,3,I)=-1

   stor(babynum,i)="DNE"

   PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ Down/Northeast’

ELSE IF ((stor(gennum,i)==“DNE”).and.((stor(gennum+1,i)=="DN"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=0

   babylure(1,3,I)=-1

   stor(babynum,i)="DN"

   PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ Down/North’

ELSE IF ((stor(gennum,i)==“DNE”).and.((stor(gennum+1,i)=="DNE"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=1

   babylure(1,3,I)=-1

   stor(babynum,i)="DNE”

   PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ Down/Northeast’

ELSE IF ((stor(gennum,i)==“DNE”).and.((stor(gennum+1,i)=="DE"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=1

   babylure(1,3,I)=-1

   stor(babynum,i)="DE"

      PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ Down/East’

ELSE IF ((stor(gennum,i)==“DNE”).and.((stor(gennum+1,i)=="DSE"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=1

   babylure(1,3,I)=-1

   stor(babynum,i)="DE"

      PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ Down/East’

ELSE IF ((stor(gennum,i)==“DNE”).and.((stor(gennum+1,i)=="DS"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=1

   babylure(1,3,I)=-1

   stor(babynum,i)="DE"

      PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ Down/East’

ELSE IF ((stor(gennum,i)==“DNE”).and.((stor(gennum+1,i)=="DSW"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=0

   babylure(1,3,I)=-1

   stor(babynum,i)=“D”

   PRINT *,'Lure ',babynum,' Move ',i,' Stays Put'

ELSE IF ((stor(gennum,i)==“DNE”).and.((stor(gennum+1,i)=="DW"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=0

   babylure(1,3,I)=-1

   stor(babynum,i)="DN"

   PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ Down/North’

ELSE IF ((stor(gennum,i)==“DNE”).and.((stor(gennum+1,i)=="DNW"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=0

   babylure(1,3,I)=-1

   stor(babynum,i)="DN"

   PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ Down/North’

 ENDIF



  IF ((stor(gennum,i)==“DSE").and.((stor(gennum+1,i)=="N"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=1

babylure(1,3,I)=-1

   stor(babynum,i)=“DE"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/East’

  ELSE IF ((stor(gennum,i)==“DSE").and.((stor(gennum+1,i)=="SP")))THEN

    babylure(1,1,i)=1

    babylure(1,2,i)=1

babylure(1,3,I)=-1

    stor(babynum,i)=“DSE"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/Southeast’

  ELSE IF ((stor(gennum,i)==“DSE").and.((stor(gennum+1,i)=="W"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=0

babylure(1,3,I)=-1

   stor(babynum,i)=“DS"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/South’

  ELSE IF ((stor(gennum,i)==“DSE").and.((stor(gennum+1,i)=="NE"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=1

babylure(1,3,I)=-1

   stor(babynum,i)=“DE"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/East’

  ELSE IF ((stor(gennum,i)==“DSE").and.((stor(gennum+1,i)=="SE"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=1

   babylure(1,3,I)=-1

   stor(babynum,i)=“DSE"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/Southeast’

  ELSE IF ((stor(gennum,i)==“DSE").and.((stor(gennum+1,i)=="SW"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=0

babylure(1,3,I)=-1

   stor(babynum,i)=“DS"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/South’

  ELSE IF ((stor(gennum,i)==“DSE").and.((stor(gennum+1,i)=="S"))) THEN

    babylure(1,1,i)=1

    babylure(1,2,i)=0

babylure(1,3,I)=-1

    stor(babynum,i)=“DS"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/South’

  ELSE IF ((stor(gennum,i)==“DSE").and.((stor(gennum+1,i)=="E"))) THEN

    babylure(1,1,i)=0

    babylure(1,2,i)=1

babylure(1,3,I)=-1

    stor(babynum,i)=“DE"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/East’

  ELSE IF ((stor(gennum,i)==“DSE").and.((stor(gennum+1,i)=="NW"))) THEN

    babylure(1,1,i)=0

    babylure(1,2,i)=0

babylure(1,3,I)=-1

    stor(babynum,i)=“D"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down'

ELSE IF ((stor(gennum,i)==“DSE”).and.((stor(gennum+1,i)=="U"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=1

   babylure(1,3,I)=0

   stor(babynum,i)=“SE"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/Southeast'

ELSE IF ((stor(gennum,i)==“DSE”).and.((stor(gennum+1,i)=="UN"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=1

   babylure(1,3,I)=0

   stor(babynum,i)=“E"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/East'

ELSE IF ((stor(gennum,i)==“DSE”).and.((stor(gennum+1,i)=="UNE"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=1

   babylure(1,3,I)=0

   stor(babynum,i)=“E"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/East'

ELSE IF ((stor(gennum,i)==“DSE”).and.((stor(gennum+1,i)=="UE"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=1

   babylure(1,3,I)=0

   stor(babynum,i)=“SE"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/Southeast'

ELSE IF ((stor(gennum,i)==“DSE”).and.((stor(gennum+1,i)=="USE"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=1

   babylure(1,3,I)=0

   stor(babynum,i)=“SE"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/Southeast'

ELSE IF ((stor(gennum,i)==“DSE”).and.((stor(gennum+1,i)=="US"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=1

   babylure(1,3,I)=0

   stor(babynum,i)=“SE"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/Southeast’

ELSE IF ((stor(gennum,i)==“DSE”).and.((stor(gennum+1,i)=="USW"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=0

   babylure(1,3,I)=0

   stor(babynum,i)=“S"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/South'

ELSE IF ((stor(gennum,i)==“DSE”).and.((stor(gennum+1,i)=="UW"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=0

   babylure(1,3,I)=0

   stor(babynum,i)=“S"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/South'

ELSE IF ((stor(gennum,i)==“DSE”).and.((stor(gennum+1,i)=="UNW"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=0

   babylure(1,3,I)=0

   stor(babynum,i)=“SP"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down'

ELSE IF ((stor(gennum,i)==“DSE”).and.((stor(gennum+1,i)==“D"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=1

   babylure(1,3,I)=-1

   stor(babynum,i)=“DSE"

   PRINT *,'Lure ',babynum,' Move ',i,’ Southeast'

ELSE IF ((stor(gennum,i)==“DSE”).and.((stor(gennum+1,i)==“DN"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=1

   babylure(1,3,I)=-1

   stor(babynum,i)=“DE"

      PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ Down/East’

ELSE IF ((stor(gennum,i)==“DSE”).and.((stor(gennum+1,i)==“DNE"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=1

   babylure(1,3,I)=-1

   stor(babynum,i)=“DE"

      PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ Down/East’

ELSE IF ((stor(gennum,i)==“DSE”).and.((stor(gennum+1,i)==“DE"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=1

   babylure(1,3,I)=-1

   stor(babynum,i)=“DSE"

   PRINT *,'Lure ',babynum,' Move ',i,’ Southeast'

ELSE IF ((stor(gennum,i)==“DSE”).and.((stor(gennum+1,i)==“DSE"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=1

   babylure(1,3,I)=-1

   stor(babynum,i)=“DSE"

   PRINT *,'Lure ',babynum,' Move ',i,’ Southeast'

ELSE IF ((stor(gennum,i)==“DSE”).and.((stor(gennum+1,i)==“DS"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=1

   babylure(1,3,I)=-1

   stor(babynum,i)=“DSE"

   PRINT *,'Lure ',babynum,' Move ',i,’ Southeast’

ELSE IF ((stor(gennum,i)==“DSE”).and.((stor(gennum+1,i)==“DSW"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=0

   babylure(1,3,I)=-1

   stor(babynum,i)=“DS"

   PRINT *,'Lure ',babynum,' Move ',i,’ South'

ELSE IF ((stor(gennum,i)==“DSE”).and.((stor(gennum+1,i)==“DW"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=0

   babylure(1,3,I)=-1

   stor(babynum,i)=“DS"

   PRINT *,'Lure ',babynum,' Move ',i,’ South'

ELSE IF ((stor(gennum,i)==“DSE”).and.((stor(gennum+1,i)==“DNW"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=0

   babylure(1,3,I)=-1

   stor(babynum,i)=“D”

   PRINT *,'Lure ',babynum,' Move ',i,’ Stays Put'

 ENDIF



  IF ((stor(gennum,i)==“DSW").and.((stor(gennum+1,i)=="N"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=-1

babylure(1,3,I)=-1

   stor(babynum,i)=“DW"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/West'

  ELSE IF ((stor(gennum,i)==“DSW").and.((stor(gennum+1,i)=="SP")))THEN

    babylure(1,1,i)=1

    babylure(1,2,i)=-1

babylure(1,3,I)=-1

    stor(babynum,i)=“DSW"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/Southwest’

  ELSE IF ((stor(gennum,i)==“DSW").and.((stor(gennum+1,i)=="E"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=0

babylure(1,3,I)=-1

   stor(babynum,i)=“DS"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/South’

  ELSE IF ((stor(gennum,i)==“DSW").and.((stor(gennum+1,i)=="SE"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=0

babylure(1,3,I)=-1

   stor(babynum,i)=“DS"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/South’

  ELSE IF ((stor(gennum,i)==“DSW").and.((stor(gennum+1,i)=="SW"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=-1

babylure(1,3,I)=-1

   stor(babynum,i)=“DSW"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/Southwest’

  ELSE IF ((stor(gennum,i)==“DSW").and.((stor(gennum+1,i)=="NW"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=-1

babylure(1,3,I)=-1

   stor(babynum,i)=“DW"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/West'

  ELSE IF ((stor(gennum,i)==“DSW").and.((stor(gennum+1,i)=="S"))) THEN

    babylure(1,1,i)=1

    babylure(1,2,i)=0

babylure(1,3,I)=-1

    stor(babynum,i)=“DS"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/South’

  ELSE IF ((stor(gennum,i)==“DSW").and.((stor(gennum+1,i)=="W"))) THEN

    babylure(1,1,i)=0

    babylure(1,2,i)=-1

babylure(1,3,I)=-1

    stor(babynum,i)=“DW"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/West'

  ELSE IF ((stor(gennum,i)==“DSW").and.((stor(gennum+1,i)=="NE"))) THEN

    babylure(1,1,i)=0

    babylure(1,2,i)=0

babylure(1,3,I)=-1

    stor(babynum,i)=“D"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down'

ELSE IF ((stor(gennum,i)==“DSW”).and.((stor(gennum+1,i)=="U"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=-1

   babylure(1,3,I)=0

   stor(babynum,i)=“SW"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/Southwest'

ELSE IF ((stor(gennum,i)==“DSW”).and.((stor(gennum+1,i)=="UN"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=-1

   babylure(1,3,I)=0

   stor(babynum,i)=“W"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/West'

ELSE IF ((stor(gennum,i)==“DSW”).and.((stor(gennum+1,i)=="UNE"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=0

   babylure(1,3,I)=0

   stor(babynum,i)=“SP"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down'

ELSE IF ((stor(gennum,i)==“DSW”).and.((stor(gennum+1,i)=="UE"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=0

   babylure(1,3,I)=0

   stor(babynum,i)=“S"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/South'

ELSE IF ((stor(gennum,i)==“DSW”).and.((stor(gennum+1,i)=="USE"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=0

   babylure(1,3,I)=0

   stor(babynum,i)=“S"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/South'

ELSE IF ((stor(gennum,i)==“DSW”).and.((stor(gennum+1,i)=="US"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=-1

   babylure(1,3,I)=0

   stor(babynum,i)=“SW"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/Southwest’

ELSE IF ((stor(gennum,i)==“DSW”).and.((stor(gennum+1,i)=="USW"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=-1

   babylure(1,3,I)=0

   stor(babynum,i)=“SW"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/Southwest'

ELSE IF ((stor(gennum,i)==“DSW”).and.((stor(gennum+1,i)=="UW"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=-1

   babylure(1,3,I)=0

   stor(babynum,i)=“SW"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/Southwest'

ELSE IF ((stor(gennum,i)==“DSW”).and.((stor(gennum+1,i)=="UNW"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=-1

   babylure(1,3,I)=0

   stor(babynum,i)=“W"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/West'

ELSE IF ((stor(gennum,i)==“DSW”).and.((stor(gennum+1,i)==“D"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=-1

   babylure(1,3,I)=-1

   stor(babynum,i)=“DSW"

   PRINT *,'Lure ',babynum,' Move ‘,i,’ Southwest’

ELSE IF ((stor(gennum,i)==“DSW”).and.((stor(gennum+1,i)==“DN"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=-1

   babylure(1,3,I)=-1

   stor(babynum,i)=“DW"

   PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ Down/West’

ELSE IF ((stor(gennum,i)==“DSW”).and.((stor(gennum+1,i)==“DNE"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=0

   babylure(1,3,I)=-1

   stor(babynum,i)=“D"

   PRINT *,'Lure ',babynum,' Move ‘,i,’ Stays Put'

ELSE IF ((stor(gennum,i)==“DSW”).and.((stor(gennum+1,i)==“DE"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=0

   babylure(1,3,I)=-1

   stor(babynum,i)=“DS"

   PRINT *,'Lure ',babynum,' Move ‘,i,’ South'

ELSE IF ((stor(gennum,i)==“DSW”).and.((stor(gennum+1,i)==“DSE"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=0

   babylure(1,3,I)=-1

   stor(babynum,i)=“DS"

   PRINT *,'Lure ',babynum,' Move ‘,i,’ South'

ELSE IF ((stor(gennum,i)==“DSW”).and.((stor(gennum+1,i)==“DS"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=-1

   babylure(1,3,I)=-1

   stor(babynum,i)=“DSW"

   PRINT *,'Lure ',babynum,' Move ‘,i,’ Southwest’

ELSE IF ((stor(gennum,i)==“DSW”).and.((stor(gennum+1,i)==“DSW"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=-1

   babylure(1,3,I)=-1

   stor(babynum,i)=“DSW"

   PRINT *,'Lure ',babynum,' Move ‘,i,’ Southwest’

ELSE IF ((stor(gennum,i)==“DSW”).and.((stor(gennum+1,i)==“DW"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=-1

   babylure(1,3,I)=-1

   stor(babynum,i)=“DSW"

   PRINT *,'Lure ',babynum,' Move ‘,i,’ Southwest’

ELSE IF ((stor(gennum,i)==“DSW”).and.((stor(gennum+1,i)==“DNW"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=-1

   babylure(1,3,I)=-1

   stor(babynum,i)=“DW"

   PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ Down/West’

 ENDIF



  IF ((stor(gennum,i)==“DNW").and.((stor(gennum+1,i)=="NE"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=0

babylure(1,3,I)=-1

   stor(babynum,i)=“DN"

   PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ Down/North’

  ELSE IF ((stor(gennum,i)==“DNW").and.((stor(gennum+1,i)=="SP")))THEN

    babylure(1,1,i)=-1

    babylure(1,2,i)=-1

babylure(1,3,I)=-1

    stor(babynum,i)=“DE"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/East'

  ELSE IF ((stor(gennum,i)==“DNW").and.((stor(gennum+1,i)=="SW"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=-1

babylure(1,3,I)=-1

   stor(babynum,i)=“DW"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/West'

  ELSE IF ((stor(gennum,i)==“DNW").and.((stor(gennum+1,i)=="E"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=0

babylure(1,3,I)=-1

   stor(babynum,i)=“DN"

   PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ Down/North’

  ELSE IF ((stor(gennum,i)==“DNW").and.((stor(gennum+1,i)=="S"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=-1

babylure(1,3,I)=-1

   stor(babynum,i)=“DW"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/West'

  ELSE IF ((stor(gennum,i)==“DNW").and.((stor(gennum+1,i)=="NW"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=-1

babylure(1,3,I)=-1

   stor(babynum,i)=“DNW"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/Northwest'

  ELSE IF ((stor(gennum,i)==“DNW").and.((stor(gennum+1,i)=="N"))) THEN

    babylure(1,1,i)=-1

    babylure(1,2,i)=0

babylure(1,3,I)=-1

    stor(babynum,i)=“DN"

   PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ Down/North’

  ELSE IF ((stor(gennum,i)==“DNW").and.((stor(gennum+1,i)=="W"))) THEN

    babylure(1,1,i)=0

    babylure(1,2,i)=-1

babylure(1,3,I)=-1

    stor(babynum,i)=“DW"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/West'

  ELSE IF ((stor(gennum,i)==“DNW").and.((stor(gennum+1,i)=="SE"))) THEN

    babylure(1,1,i)=0

    babylure(1,2,i)=0

babylure(1,3,I)=-1

    stor(babynum,i)=“D"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down'

ELSE IF ((stor(gennum,i)==“DNW”).and.((stor(gennum+1,i)=="U"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=-1

   babylure(1,3,I)=0

   stor(babynum,i)=“NW"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/Northwest'

ELSE IF ((stor(gennum,i)==“DNW”).and.((stor(gennum+1,i)=="UN"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=-1

   babylure(1,3,I)=0

   stor(babynum,i)=“NW"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/Northwest'

ELSE IF ((stor(gennum,i)==“DNW”).and.((stor(gennum+1,i)=="UNE"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=0

   babylure(1,3,I)=0

   stor(babynum,i)=“N"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/North'

ELSE IF ((stor(gennum,i)==“DNW”).and.((stor(gennum+1,i)=="UE"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=0

   babylure(1,3,I)=0

   stor(babynum,i)=“N"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/North'

ELSE IF ((stor(gennum,i)==“DNW”).and.((stor(gennum+1,i)=="USE"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=0

   babylure(1,3,I)=0

   stor(babynum,i)=“SP"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down'

ELSE IF ((stor(gennum,i)==“DNW”).and.((stor(gennum+1,i)=="US"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=-1

   babylure(1,3,I)=0

   stor(babynum,i)=“W"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/West’

ELSE IF ((stor(gennum,i)==“DNW”).and.((stor(gennum+1,i)=="USW"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=-1

   babylure(1,3,I)=0

   stor(babynum,i)=“W"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/West'

ELSE IF ((stor(gennum,i)==“DNW”).and.((stor(gennum+1,i)=="UW"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=-1

   babylure(1,3,I)=0

   stor(babynum,i)=“NW"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/Northwest'

ELSE IF ((stor(gennum,i)==“DNW”).and.((stor(gennum+1,i)=="UNW"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=-1

   babylure(1,3,I)=0

   stor(babynum,i)=“NW"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/Northwest'

ELSE IF ((stor(gennum,i)==“DNW”).and.((stor(gennum+1,i)==“D"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=-1

   babylure(1,3,I)=-1

   stor(babynum,i)=“DNW"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/Northwest’

ELSE IF ((stor(gennum,i)==“DNW”).and.((stor(gennum+1,i)==“DN"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=-1

   babylure(1,3,I)=-1

   stor(babynum,i)=“DNW"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/Northwest’

ELSE IF ((stor(gennum,i)==“DNW”).and.((stor(gennum+1,i)==“DNE"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=0

   babylure(1,3,I)=-1

   stor(babynum,i)=“DN"

   PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ Down/North’

ELSE IF ((stor(gennum,i)==“DNW”).and.((stor(gennum+1,i)==“DE"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=0

   babylure(1,3,I)=-1

   stor(babynum,i)=“DN"

   PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ Down/North’

ELSE IF ((stor(gennum,i)==“DNW”).and.((stor(gennum+1,i)==“DSE"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=0

   babylure(1,3,I)=-1

   stor(babynum,i)=“D"

   PRINT *,'Lure ',babynum,' Move ‘,i,’ Stays Put'

ELSE IF ((stor(gennum,i)==“DNW”).and.((stor(gennum+1,i)==“DS"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=-1

   babylure(1,3,I)=-1

   stor(babynum,i)=“DW"

   PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ Down/West’

ELSE IF ((stor(gennum,i)==“DNW”).and.((stor(gennum+1,i)==“DSW"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=-1

   babylure(1,3,I)=-1

   stor(babynum,i)=“DW"

   PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ Down/West’

ELSE IF ((stor(gennum,i)==“DNW”).and.((stor(gennum+1,i)==“DW"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=-1

   babylure(1,3,I)=-1

   stor(babynum,i)=“DNW"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/Northwest’

ELSE IF ((stor(gennum,i)==“DNW”).and.((stor(gennum+1,i)==“DNW"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=-1

   babylure(1,3,I)=-1

   stor(babynum,i)=“DNW"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/Northwest’

 ENDIF



  IF ((stor(gennum,i)==“D").and.((stor(gennum+1,i)=="N"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=0

babylure(1,3,I)=-1

   stor(babynum,i)=“DN"

   PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ Down/North’

  ELSE IF ((stor(gennum,i)==“D").and.((stor(gennum+1,i)=="W"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=-1

babylure(1,3,I)=-1

   stor(babynum,i)=“DW"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/West'

  ELSE IF ((stor(gennum,i)==“D").and.((stor(gennum+1,i)=="E"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=1

babylure(1,3,I)=-1

   stor(babynum,i)=“DE"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/East’

  ELSE IF ((stor(gennum,i)==“D").and.((stor(gennum+1,i)=="S"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=0

babylure(1,3,I)=-1

   stor(babynum,i)=“DS"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/South’

  ELSE IF ((stor(gennum,i)==“D").and.((stor(gennum+1,i)=="NE"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=1

babylure(1,3,I)=-1

   stor(babynum,i)=“DNE"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/Northeast'

  ELSE IF ((stor(gennum,i)==“D").and.((stor(gennum+1,i)=="NW"))) THEN

    babylure(1,1,i)=-1

    babylure(1,2,i)=-1

babylure(1,3,I)=-1

    stor(babynum,i)=“DNW"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/Northwest'

  ELSE IF ((stor(gennum,i)==“D").and.((stor(gennum+1,i)=="SW"))) THEN

    babylure(1,1,i)=1

    babylure(1,2,i)=-1

babylure(1,3,I)=-1

    stor(babynum,i)=“DSW"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/Southwest’

  ELSE IF ((stor(gennum,i)==“D").and.((stor(gennum+1,i)=="SE"))) THEN

    babylure(1,1,i)=1

    babylure(1,2,i)=1

babylure(1,3,I)=-1

    stor(babynum,i)=“DSE"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/Southeast’

  ELSE IF ((stor(gennum,i)==“D").and.((stor(gennum+1,i)=="SP"))) THEN

    babylure(1,1,i)=0

    babylure(1,2,i)=0

babylure(1,3,I)=-1

    stor(babynum,i)=“D"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down'

ELSE IF ((stor(gennum,i)==“D”).and.((stor(gennum+1,i)=="U"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=0

   babylure(1,3,I)=0

   stor(babynum,i)=“SP"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down'

ELSE IF ((stor(gennum,i)==“D”).and.((stor(gennum+1,i)=="UN"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=0

   babylure(1,3,I)=0

   stor(babynum,i)=“N"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/North'

ELSE IF ((stor(gennum,i)==“D”).and.((stor(gennum+1,i)=="UNE"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=1

   babylure(1,3,I)=0

   stor(babynum,i)=“NE"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/Northeast'

ELSE IF ((stor(gennum,i)==“D”).and.((stor(gennum+1,i)=="UE"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=1

   babylure(1,3,I)=0

   stor(babynum,i)=“E"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/East'

ELSE IF ((stor(gennum,i)==“D”).and.((stor(gennum+1,i)=="USE"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=1

   babylure(1,3,I)=0

   stor(babynum,i)=“SE"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/Southeast'

ELSE IF ((stor(gennum,i)==“D”).and.((stor(gennum+1,i)=="US"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=0

   babylure(1,3,I)=0

   stor(babynum,i)=“S"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/South’

ELSE IF ((stor(gennum,i)==“D”).and.((stor(gennum+1,i)=="USW"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=-1

   babylure(1,3,I)=0

   stor(babynum,i)=“SW"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/Southwest'

ELSE IF ((stor(gennum,i)==“D”).and.((stor(gennum+1,i)=="UW"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=-1

   babylure(1,3,I)=0

   stor(babynum,i)=“W"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/West'

ELSE IF ((stor(gennum,i)==“D”).and.((stor(gennum+1,i)=="UNW"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=-1

   babylure(1,3,I)=0

   stor(babynum,i)=“NW"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/Northwest'

ELSE IF ((stor(gennum,i)==“D”).and.((stor(gennum+1,i)=="D"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=0

   babylure(1,3,I)=-1

   stor(babynum,i)=“D"

   PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ Stays Put’

ELSE IF ((stor(gennum,i)==“D”).and.((stor(gennum+1,i)==“DN"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=0

   babylure(1,3,I)=-1

   stor(babynum,i)=“DN"

   PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ Down/North’

ELSE IF ((stor(gennum,i)==“D”).and.((stor(gennum+1,i)==“DNE"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=1

   babylure(1,3,I)=-1

   stor(babynum,i)=“DNE"

   PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ Down/Northeast’

ELSE IF ((stor(gennum,i)==“D”).and.((stor(gennum+1,i)==“DE"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=1

   babylure(1,3,I)=-1

   stor(babynum,i)=“DE"

      PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ Down/East’

ELSE IF ((stor(gennum,i)==“D”).and.((stor(gennum+1,i)==“DSE"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=1

   babylure(1,3,I)=-1

   stor(babynum,i)=“DSE"

   PRINT *,'Lure ',babynum,' Move ‘,i,’ Southeast'

ELSE IF ((stor(gennum,i)==“D”).and.((stor(gennum+1,i)==“DS"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=0

   babylure(1,3,I)=-1

   stor(babynum,i)=“DS"

   PRINT *,'Lure ',babynum,' Move ‘,i,’ South’

ELSE IF ((stor(gennum,i)==“D”).and.((stor(gennum+1,i)==“DSW"))) THEN

   babylure(1,1,i)=1

   babylure(1,2,i)=-1

   babylure(1,3,I)=-1

   stor(babynum,i)=“DSW"

   PRINT *,'Lure ',babynum,' Move ‘,i,’ Southwest’

ELSE IF ((stor(gennum,i)==“D”).and.((stor(gennum+1,i)==“DW"))) THEN

   babylure(1,1,i)=0

   babylure(1,2,i)=-1

   babylure(1,3,I)=-1

   stor(babynum,i)=“DW"

   PRINT *,’Lure ‘,babynum,’ Move ‘,i,’ Down/West’

ELSE IF ((stor(gennum,i)==“D”).and.((stor(gennum+1,i)==“DNW"))) THEN

   babylure(1,1,i)=-1

   babylure(1,2,i)=-1

   babylure(1,3,I)=-1

   stor(babynum,i)=“DNW"

   PRINT *,'Lure ',babynum,’ Move ‘,i,’ Down/Northwest’

 ENDIF


